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QUESTION 1

Which two features enable RAID cards striping as well as mirroring and parity? (Choose two.)
A. Integration with Cisco Intersight for a cloud-based storage management solution.

B. No load on the system resources, drives seem as one drive to the operating system

C. On RAID card failure, the RAID onboard concurrent cache assists rebuild cache.

D. Hot replacement of drives available, depending on configuration

E. Distributed drives across disparate systems can be in RAID together.

Correct Answer: BD

QUESTION 2

HyperFlex compute nodes contribute what percentage of the overall disk storage capacity?
A. 5%

B. 20%

C. 0%

D. 10%

Correct Answer: C

QUESTION 3

When building a HyperFlex cluster which two recommendations should be followed? (Choose two.)
A. Use HX 220s for compute nodes and HX 240s for converged nodes

B. Use B-Series servers to improve converged node scale.

C. Use the same CPU model but memory configuration can be different.

D. Use the same server configuration for the cluster.

E. Use the same server model for the cluster.

Correct Answer: DE
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QUESTION 4

There are often disadvantages when using mixed hardware, and uniform systems are highly advised. What are three
disadvantages of using validated yet mixed hardware? (Choose three.)

A. "Hardware only" solutions require less latency for data aggregation.

B. "Software only" solutions are inherently more secure, adhering to government regulations.

C. "Software only" HCI solutions often mean that HCI vendors do not have control over the hardware that the consumer
is using. The lack of control over the hardware can result in hardware not being security-compliant (usually the case with

white box solutions) or not being optimally configured for the given HCI solution.

D. Validated yet "mixed" hardware systems may be supported by the specific original equipment manufacturers but
software vendors require a master level services agreement.

E. "Software only" solutions can result in a lack of simplicity for installation and maintenance. While setup and
maintenance of an HCI solution might be simple you still need to configure and maintain the hardware part, which is not
orchestrated by the HCI solution.

F. Validated hardware does not mean smooth performance, which particularly applies to hardware that is seldom
chosen for the hardware part of the "software only" solution.

Correct Answer: CEF

QUESTION 5
Which statement about Standalone Cisco UCS Server Deployments is valid?

A. They require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses (OpEx) associated with
the deployment

B. They do not require Cisco Fabric Interconnects to operate, which reduces the Operating Expenses (OpEX)
associated with the deployment

C. They do not require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses (CapEx) associated
with the deployment

D. They require Cisco Fabric Interconnects to operate, which reduces the Capital Expenses (CapEx) associated with
the deployment

Correct Answer: C
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